

$$\frac{\omega_r^2}{\omega_m} + \frac{\cos^2 \alpha}{\omega_m} = \frac{r}{\omega_m} = \frac{r}{r \omega_m \cos \alpha} = \frac{r}{r \times \frac{r}{r} \omega_m} = \frac{-r}{r \omega_m} = \frac{-r}{r \times \frac{r}{r}} = \frac{-r}{r} = -r \frac{1}{r}$$

$$\frac{r_{Lm} + r_{Gm}}{Lm Gm} \approx r_{Lm} - r_{(-)} -$$

$$\Rightarrow -\frac{r}{r} \cdot \omega \cdot \cos \alpha$$

$$L^p_m \rightarrow \frac{9}{5} L^p_n \leq 1$$

$$\frac{1}{\epsilon} \ln(s) \sim \frac{\sqrt{12}}{12}$$

$$\frac{\cancel{\cos i} \cdot \cancel{\cos r}}{(1 - \cancel{\cos r})} (\cancel{\cos r} - 1) \left(\frac{1 - \cancel{\cos r}}{1 + \cancel{\cos r}} \right)$$

$$\cos(\gamma_1 - \omega_1) (\cos \gamma_1 + \omega_1 - \gamma_1 \omega_1)$$

$$\frac{\frac{g^r r_i - \omega^r r_i}{g^r r_i}}{\frac{g^r r_i + \omega^r r_i}{g^r r_i}} = \frac{(\cos \theta_i - \omega^r_i)^r - \rho \omega^r_i \cos \theta_i}{1}$$

$$\begin{aligned} 4x + 9y + 5z &= 9 \\ 1 + 15x + 9z &= 9 \\ 9x(15y + 5z) &= 9 \end{aligned}$$

$$1 + \Lambda g_\alpha^r + 4 \Lambda^2 g_\alpha^r g_\alpha^r$$

$$G(x) = (15x + 62x) \cdot 5^x$$